29 November 2020 05:19

Gibbs everqy

/ Fayo\da‘) E/w = g%V
Bl % = - \/5\ F E{\l { ) ~ =
Gidvs Leell poten diak wamole & = W F
TV ¢ AACE "’t
chavge Qe JVONY =

QX_’(/\/\O\\/\SQ v .
et el {1"‘6'1“0\/,

NG = ~“WMEE

cel)
i‘/ciu\'\\’\bf;uw) conetant Lvom Nevvigt Zﬁuaﬁom
2 () \2v\z+(cug) et (ug) | i ()

2+ () & ™t (os\ — Z\ADA QO‘S\ yl (5) o
wa Nevwet 29U aYiom (<)

° RS
Ec_{k\ = Ec.{\\ N O,—oiﬂ /QOCB (\iv‘_j
M Cet)
A K -Q_Cl\/\’\\\Br'\uW\ ECQ\\ =0 C)5) = <
(™)
o = /l_:a — O_US I SL <
e\ N o} <
9‘03 K = " Ece T
°©059 |

@v\&Qs)\:\‘)M
Calemlate  the  2quilibviam Cometaut o fF the veactiow
) raAg (o) > lag) ¢ arg ©

EC..‘Q“ = 0,4‘\(\)
Ang wev °
J\og k, = n E

QAL oA = |9 ¢

New Section 346 Page 1



JAYV\Q eV ©

J\OBKQ: n E = aAXov.4atl = |5 .4
o-0 S o-059
.Qo,a\((’:_ (6’\_ o. 6
= 9\03\0 .B Q\OBL\
20064‘7(\0
ko= Aaxw'’
C

Qwves ¥iow
™e otYawndard Q\e(_:\\rodq eol‘em\‘fa\ Lov Dawvia\ cell is LIV
Coleulate the stan dard G iwhs ev\ewﬁ% Lov e veadtme

20+ Y () > 2m ") o)
A ey o
e = ~wme ELe\)
= -4 ALS0D K (N = — 3\3260 T wmo]”

= —a\&2 KT w7
Q/\AQS\'.\QV\

The cell in wWhih  +4we {*ollow(v\} r eaction occyvs

24+ o
Q\Fc_3+tog3 - &I‘La@ —> 2 Ee Qa.@ + t-z(s) Was Egg(\: 0.3 2V

&QQ%K_ Calcnlate the S{‘qv\o{q;/o& Gibbs eVieV' gy avdhk the

&eju[((bf(o\m Covistaut of ftlhe <ell reaction

\Amgwe\’
. v o N
L) AC = ~NnE E ey * ~QY QS 00 X 0-226 = T ASSEI Tweol
= -4 S.S8 KT
. mno )
‘)) 10«3 [<C = 2% LC(\}
0-0%9
= A% 0.234
°©-059
= <%
e = (o

GCeunectiown

New Section 346 Page 2



el Pojremﬁa\s ot cdc.\qu]it—

C_q\w\a‘l‘e the g‘\“qmo{a\/o(.
take  plac

cell v whidh tue '@ollow(ma v <action
) X G ()t ”de\HCag) - ac” CQZ) + 2 cd (s)
h» et C&O . Acaf Co‘i} — FC?VFC(LZ) + A3(s>

Calcmlal ¢ the 86 awd LY wWilibriuwm  congtaut of the

v ea (riown
° = —0 _74QVv = = — o.“A@u Vv
SEANEN Y G P
E .. > 6.7V = = 0. R0V
Fe [ Fext — ’ Ag‘f)‘\} —_
k/Avv\;wf\/
= E - £ = “
b el Cd’-lf/CoL CVB#/CV = 0 .«0 ( 0-7 )
= o.24yv
AG = TMEE = —EXAES00% 024 2 T 196 %o T ol
= - (6. %6 ET
w10 )
Xd% = ME. T6XK°-%9
o-0g @ °~0519
«QO% kc_ = L 4.6
= 24 & o- 6
29
= Q2 +
dc(') o ﬂoaé\
= /O\UB 4'(Klozél
24
KC_: 4 X (o
)7) el = ELQ‘HAO(A!L, EC\\/\OASL
© EQ’
AgtlAg S/ e

New Section 346 Page 3



NI "MEE = 1% 9S00 X 0.0% = ~ &XAS T ol
= —2.84S KT ol
Log ke = E.y = LZQ#)i - o.€
0 -0S 9 OSﬂ
K o.-S Q
Q = (.O ﬂoa :U-‘Z
= 2.2 Logd = 0.4%
/Q(Jg.g: 0~7
}log’l = 0-%S

"Q-‘)ac" B = y\os at /QOS B) /QOOS %: /Qt?j ‘S /QOS b
/QDSQB = h ,QO:)C(,
J\_o = &€

R veg Tiowm

v the butrton el ufa\tl\a used ™ wquc\'\eg awvd o ther

devices the €0l\0u)l\v\} reoCt Con tamkes place :

2»\(3> * A?)’O (s) 1+ Hlo(l\ - Z::Jr(auw + &A}(Q + S\OH\(O{)

b%ﬁ'\‘e\/m‘\m AGCT avd Eb Lfor tho veaction

@

= =~ —0-72¢ vV € = 0.L4K4V
7—\’\21\/ 2n A’(}J—O/ Aa
\Avxgwew
"w = E—'w - Ef
=l cath o o ke
= c - L:w e = 0.294 - (~0-7
A—%;LO/A% 2n [ 2Zn >
= (.lo4aV
AG = —wnE EQQ{“ =T Q%96S00 Y l-log = ~12073 T wmel™

I

-~ AR 018 KT mot”

New Section 346 Page 4



